
1

2

3

4

5

6

8

7

9

10

11

12

13
14

15
16

17

17

18

19

20
21

22

23

24

25

26

ITEM PART NO DESCRIPTION QTY ITEM PART NO DESCRIPTION QTY
1 401011-Y1 BODY HALF, RIGHT 1 14

KIT    
6004319-B2

SPRING, LATCH 1
2 401021-Y1 BODY HALF, LEFT 1 15 HEX BOLT, 3/8-16 X 3/4" 1
3 401031-Y1 GATE, FRONT 1 16 HEX BOLT, 3/8-16 X 4" 1
4 401041-Y1 TAILGATE 1 17 LOCKNUT, 3/8-16" 2
5 401051-Y1 CORNER 2 18 6002415-C WHEEL (BUSHINGS INCL) 2
6 401061-B2 UNDERCARRIAGE 1 19 300001 AXLE 1
7 401071-Y1 RETAINER GATE, RIGHT 1 20

KIT   
6004323

3/4" SAE WASHER 4
8 401081-Y1 RETAINER GATE, LEFT 1 21 SPACER 3/4" X 1.25" 2
9 401091-B2 SUPPORT, FRONT 1 22 SPACER 1" X 3.125" 1

10 401131-Y1 BAR SUPPORT, REAR 1 23 HAIRPIN COTTER 2
11

KIT   
6004319-B2

DRAWBAR FORMED 1 24 KIT   
6004322

TRUSS HD, 5/16-18X 3/4" 46
12 LATCH POST 1 25 5/16-18 SPINNER  NUT 46

13 SPRING LOADED, HITCH 1 26 KIT   
6000809

REPLACEMENT 
BUSHINGS (SET OF 4) -

9

Repair Parts

REPLACEMENT PARTS ORDERING   OHIO STEEL INDUSTRIES 1-800-652-2321


	Safety
	Warr
	Contents
	Drawing View75
	Drawing View76
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82
	Drawing View83
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View91
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96
	Drawing View97

	Assy 1
	Drawing View3
	Detail View C (1 : 2)
	Drawing View7
	Detail View D (1 : 8)
	Drawing View9

	Assy 2
	Drawing View15
	Detail View F (1 : 7)
	Drawing View17
	Detail View G (1 : 6)
	Drawing View98

	Assy 3
	Drawing View29
	Detail View K (1 : 2)
	Drawing View99
	Drawing View100
	Drawing View103

	Assy 4
	Drawing View38
	Detail View M (1 : 8)
	Drawing View42
	Detail View N (1 : 2)

	Operation
	Repair
	Drawing View102

	Notes
	6004384.PDF
	Safety
	Warr
	Contents
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View83
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View109

	Assy 1
	Drawing View3
	Detail View C (1 : 2)
	Drawing View7
	Detail View D (1 : 8)
	Drawing View9

	Assy 2
	Drawing View15
	Detail View F (1 : 7)
	Drawing View17
	Detail View G (1 : 6)
	Drawing View98

	Assy 3
	Drawing View29
	Detail View K (1 : 2)
	Drawing View99
	Drawing View100
	Drawing View103

	Assy 4
	Drawing View38
	Detail View M (1 : 8)
	Drawing View42
	Detail View N (1 : 2)

	Operation
	Repair
	Drawing View102

	Notes

	6004384.PDF
	Safety
	Warr
	Contents
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View83
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View109

	Assy 1
	Drawing View3
	Detail View C (1 : 2)
	Drawing View7
	Detail View D (1 : 8)
	Drawing View9

	Assy 2
	Drawing View15
	Detail View F (1 : 7)
	Drawing View17
	Detail View G (1 : 6)
	Drawing View98

	Assy 3
	Drawing View29
	Detail View K (1 : 2)
	Drawing View99
	Drawing View100
	Drawing View103

	Assy 4
	Drawing View38
	Detail View M (1 : 8)
	Drawing View42
	Detail View N (1 : 2)

	Operation
	Repair
	Drawing View102

	Notes

	6004384.PDF
	Safety
	Warr
	Contents
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View83
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View109

	Assy 1
	Drawing View3
	Detail View C (1 : 2)
	Drawing View7
	Detail View D (1 : 8)
	Drawing View9

	Assy 2
	Drawing View15
	Detail View F (1 : 7)
	Drawing View17
	Detail View G (1 : 6)
	Drawing View98

	Assy 3
	Drawing View29
	Detail View K (1 : 2)
	Drawing View99
	Drawing View100
	Drawing View103

	Assy 4
	Drawing View38
	Detail View M (1 : 8)
	Drawing View42
	Detail View N (1 : 2)

	Operation
	Repair
	Drawing View102

	Notes

	6004384.PDF
	Safety
	Warr
	Contents
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View83
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View109

	Assy 1
	Drawing View3
	Detail View C (1 : 2)
	Drawing View7
	Detail View D (1 : 8)
	Drawing View9

	Assy 2
	Drawing View15
	Detail View F (1 : 7)
	Drawing View17
	Detail View G (1 : 6)
	Drawing View98

	Assy 3
	Drawing View29
	Detail View K (1 : 2)
	Drawing View99
	Drawing View100
	Drawing View103

	Assy 4
	Drawing View38
	Detail View M (1 : 8)
	Drawing View42
	Detail View N (1 : 2)

	Operation
	Repair
	Drawing View102

	Notes

	6004384.PDF
	Safety
	Warr
	Contents
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View83
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View109

	Assy 1
	Drawing View3
	Detail View C (1 : 2)
	Drawing View7
	Detail View D (1 : 8)
	Drawing View9

	Assy 2
	Drawing View15
	Detail View F (1 : 7)
	Drawing View17
	Detail View G (1 : 6)
	Drawing View98

	Assy 3
	Drawing View29
	Detail View K (1 : 2)
	Drawing View99
	Drawing View100
	Drawing View103

	Assy 4
	Drawing View38
	Detail View M (1 : 8)
	Drawing View42
	Detail View N (1 : 2)

	Operation
	Repair
	Drawing View102

	Notes




